
Produktinformation

Bestellnummer 2801780002301

Technische Daten:

Schwingungsbelastung gemäß

ISO 16750-3 / IEC 60068-2-64-5

min 8 g rms

Schockbelastung gemäß

DIN EN 60068 2-27

30 g, 6 ms

Einstellbarer Winkel ±15 °

Sonstige gesetzliche Anforderungen: RoHS; REACH

Lieferumfang

1x Sechskantmutter M10

1x M10 Federring

1x M10 Scheibe

1x Sechskantschraube M10 x 25

1x Sechskantmutter mit Klemmteil M8

NightViu® Working lights - Halter Standard

NightViu® Working lights - Holder Standard

2801780002300

Product information

Order number 2801780002301

Technical specifications:

Vibration Shake and Bake according

ISO 16750-3 / IEC 60068-2-64-5

min 8 g rms

Mechanical Shock Test according

DIN EN 60068 2-27

30 g, 6 ms

Adjustable angle ±15 °

Other Legal Requirements RoHS; REACH

Scope of delivery

1x High hexagonal nut M10

1x M10 spring washer

1x M10 washer

1x Hexagonal screw M10 x 25

1x Low hexagonal nut with prevailing torque M8



Continental Aftermarket & Services GmbH
Sodener Strasse 9, 65824 Schwalbach/Ts., Germany

©
 C

on
tin

en
ta

l A
fte

rm
ar

ke
t &

 S
er

vi
ce

s 
G

m
bH

--2
8.

01
90

-7
45

8.
1 

/ 
00

 0
7/

23

1x M8 Federring

2x M8 Scheibe

1x Sechskantschraube M8 x 55

2x Zylinderschraube mit Innensechskant M6 x 10

1x Adapter

1x Bügel

1x M8 spring washer

2x M8 washer

1x Hexagonal head screw M8 x 55

2x Cylinder screw with hexagon socket M6 x 10

1x Adapter

1x Bracket


